MEMBERS OF COUNCIL

HON. KIM REYNOLDS GOVERNOR

HON. PAUL D. PATE SECRETARY OF STATE

HON. ROB SAND AUDITOR OF STATE

HON. ROBY SMITH TREASURER OF STATE

HON. MIKE NAIG SECRETARY OF AGRICULTURE



# Executive Council of Jowa

CAPITOL BUILDING DES MOINES, IOWA 50319 PHONE: 515 281-5368

March 4, 2024

Accounting Department Office of the Treasurer Lucas Building 321 E 12<sup>th</sup> Street Des Moines, IA, 50319

The Executive Council, in a meeting held on today's date, approved Department of Public Safety's request for an emergency allocation in the amount of \$9,170.00, subject to audit of actual invoices. On April 4, 2023, State Patrol Vehicle #357 was damaged by hail. Request was to cover repair costs.

EXECUTIVE COUNCIL OF IOWA

Victoria Newton

Victoria Newton Executive Secretary

 cc: Jeannie Adams, Department of Public Safety DAS Fleet Services, Risk Matt Bender, Department of Management Heather Hackbarth, Department of Management

> AOS Claim # 3479 TOS Job # \_\_\_\_



## OFFICE OF AUDITOR OF STATE

STATE OF IOWA

State Capitol Building Des Moines, Iowa 50319-0004 Telephone (515) 281-5834 Facsimile (515) 281-6518 Rob Sand Auditor of State

February 2, 2024

Victoria Newton Executive Council L O C A L

Subject: Hail Damage to Vehicle #357 on April 4, 2023 Department of Public Safety – Iowa State Patrol Claim dated December 4, 2023 AOS Claim ID: 3479

In accordance with Executive Council policy, we have examined the claim for 29C.20 funds for the above-mentioned damage. It is our conclusion that the above damage incurred by the Department of Public Safety – Iowa State Patrol is covered by Chapter 29C.20 of the Code of Iowa. Therefore, we recommend an Executive Council allocation in the amount of \$9,170.00, subject to an audit of <u>actual</u> invoices.

Sincerely,

Pri RAS

Brian R. Brustkern, CPA Deputy Auditor of State

cc: Jeannie Adams, Iowa State Patrol, Department of Public Safety Mariah Fucaloro, Fleet Services Manager, Department of Administrative Services Heather Hackbarth, Department of Management

Governor Kim Reynolds Lt. Governor Adam Gregg

Adam Steen, Director



Date: December 4, 2023

- To: Tammy Hollingsworth, Auditor of State Victoria Newton, Treasurer of State Executive Council
- From: Mariah Flowers, Fleet Manager DAS Fleet Services Department of Administrative Services

### Re: ALLOCATION REQUEST - 29C20 Claim for Executive Council Consideration

Vehicle / Event	#357/Hail
Event Date	April 4, 2023
Summary	Vehicle 357 received hail damage. (254604)
Amount Requested	\$9,170.00 - Estimate
Supporting Documentation	29C20 Email Notification, Accident Report, Repair Estimate(s), Photos

If you have any questions or are in need of additional information, please do not hesitate to contact me.

Thank you,

Mariah Fucaloro, Fleet Manager DAS Fleet Services <u>Mariah.Fucaloro@iowa.gov</u> 515-414-6582



# FW: Pics & Reports - 357 Hail damage April 4

1 message

#### Adams Jeannie <jadams@dps.state.ia.us>

Wed, Apr 5, 2023 at 11:29 AM To: "Risk, DAS (das.risk@iowa.gov)" <das.risk@iowa.gov>, Tammy Hollingsworth <Tammy.Hollingsworth@aos.iowa.gov>, "ExecutiveCouncil [TOS]" <ExecutiveCouncil@tos.iowa.gov>

Attached is vehicle damage report, memo, and pictures in regards to hail damage sustained to 357's patrol vehicle on April 4, 2023

Jeannie Adams ISP Fleet & Supply, Fleet Asset Manager Department of Public Safety 30 N.E. 48th Place Des Moines, Iowa 50313 Direct #: 515-725-0643 Cell Phone: 515-204-3019 Shop: 515-281-3277 Fax: 515-242-6321 Email: jadams@dps.state.ia.us<mailto:jadams@dps.state.ia.us>

From: Major Wade <major@dps.state.ia.us> Sent: Wednesday, April 5, 2023 11:09 AM To: vehicledamage <vehicledamage@dps.state.ia.us>; DAS.Risk@iowa.gov Cc: Pollard Brad <pollard@dps.state.ia.us>; Anderson Allen <aanderso@dps.state.ia.us>; Taylor Aaron <ataylor@dps.state.ia.us>; Adams Jeannie <jadams@dps.state.ia.us>; Guill Bryan <guill@dps.state.ia.us> Subject: Pics & Reports - 357 Hail damage April 4

All.

Attached is vehicle damage report, memo, and pictures in regards to hail damage sustained to 357's patrol vehicle on April 4, 2023.

Thanks, 49

Sergeant Wade Major #49 Iowa State Patrol- District 2 Assistant District Commander 1619 Truro Pavement Osceola, IA 50213 641-342-2108

#### 10 attachments



IMG 0109.JPG 1848K



IMG\_0110.JPG 2206K



IMG\_0111.JPG 2247K



IMG\_0112.JPG 1580K



IMG\_0113.JPG 1543K



IMG\_0115.JPG 1458K



**IMG\_0116.JPG** 1841K



IMG\_0117.JPG 1800K

- Box Strain Damage memo.docx 26K
  Strain Damage memo.docx
  Strain Damage
- State Vehicle Damage Rpt form 357.doc 87K

# State Vehicle Damage Report

Attach this completed form to an email along with the items identified below and send

- to: <u>vehicledamage@dps.state.ia.us</u>; <u>das.risk@iowa.gov</u>
- One Repair Estimate from Approved State Bid Shop
- > DOT MARS Report (if reportable)
- > Memo from the Driver of the State Vehicle
- > 3-4 photos of the vehicle damage

\*\*\*Sworn Officers only: Complete a Line of Duty Form #432037 and send to DOT if 10-50 was reportable!!!

STALL ALLIGE	L. (11	ark II Act of I	valuie j CASL #.	2023000042		
Date: (Month/Day/Year)	4/04	/2023	Time: (Time plus a.m./p.m.)	6:25 P.M.		
Vehicle Plate #:	357		Vehicle Mileage:	13223		
Vehicle Description: (Yr/Make/Model/ & Vin#)	202	2021 Dodge Charger, VIN # 2C3CDXKGXMH540739				
Assigned To:	Trp.	THORUP	Badge #	357		
Driven By:			Badge #			
Driver's Lic #:			Damage:	\$		
Vehicle Towed: (Yes / No)			Towed By:	N/A		
Towed To:	N/A		Towing Cost:	\$N/A		
Seat Belt: (Yes / No)	N/A		Type of Vehicle: (Marked/Semi /Unmarked)	Marked		
Injured/Injuries:		N/A	-			
Occupants: (Other than driver)		N/A				

# STATE VEHICLE: (Mark if Act of Nature⊠) CASE #: 2023008842

## VEHICLE #2:

DL #:	State:	
Vehicle Lic. #	State:	
Driver's Name:		
Driver's Address:		
Owner's Name:		
Owner's Address:		

Owner's Phone:						
Insurance Info: (Carrier/Policy #/Phone)						
Veh Description: (Yr/Make/Model & Vin#)						
Damage:	\$	Seat Belt: (Yes / No)				
Injured/Injuries:						
Occupants: (Other than driver)						
Occupant(s) Wearing Seat Belt: (Yes/No)						

# **OTHER INFORMATION:**

Witnesses:	N/A			
Accident Location:	DISTRICT 2 OFFICE: 1619 TRURO			
(Street/Hwy)	PAVEMENT OSCEOLA,IA			
County:	CLARKE			
Weather/Road Conditions:	Severe Thunderstorms			
Hail damage sustained from h	nail storm. Vehicle was parked at the District 2			
Office at time damage occurre	ed.			
Property Damage other than	None			
Vehicles:	None			
Cost:	\$			
	ψ			
Citations Issued To:				
(List Charge(s) and Statute Code(s))				

Investigating Officer: Sgt.	. Major #49
-----------------------------	-------------

# VEHICLE #3: (If needed) (For more vehicles, please make extra copies of this portion)

DL #:	State:	
Vehicle Lic. #	State:	
Driver's Name:		
Driver's Address:		
Owner's Name:		

Owner's Address:			
Owner's Phone:			
Insurance Info: (Carrier/Policy #/Phone)			
Veh Description: (Yr/Make/Model & Vin#)			
Damage:	\$	Seat Belt: (Yes / No)	
Injured/Injuries:			
Occupants: (Other than driver)			
Occupant(s) Wearing	ng Seat Belt:	(Yes/No)	



TO: Lt. Pollard #335

FROM: Sgt. Major #49

**DATE:** 4/4/2023

SUBJECT: VEHICLE DAMAGE (HAIL STORM)

On April 4, 2023 a severe thunderstorm moved through the Clarke County area. As a result of thunderstorm producing large size hail, Trp. Thorup's patrol vehicle, which was parked at the District 2 Office, sustained hail damage.

Year: 2021 Mileage: 13223 VIN: 2C3CDXKGXMH540739

49





Bill To IOWA STATE PATROL-357 APDSOI0254604-001

				P.O. No.	Terms		Project
				21 Dodge Charger			26250
Quantity			Description		Rate		Amount
	Hood Panel		7.000000	en 1891 - Shati Angelin - Ka	1	,078.00	1,078.001
1.5	Hood Panel	(Alum)				65.00	97.501
2.8	Hood Outsic	le				65.00	182.007
1.4	Add For Ho	od Underside				65.00	91.00
1	R Fender Ou					65.00	65.007
1	L Fender Ou	utside				65.00	65.00
0.3	L Add To Ed	dge Fender				65.00	19.50
0.3	R Fender Sp	lash Shield				65.00	19.507
0.3	L Fender Sp	lash Shield				65.00	19.507
1	R FENDER					100.00	100.007
1	L FENDER					150.00	150.007
1	L FENDER	1 OVERSIZE@\$40				40.00	40.007
		REMOVE DECAL FO	R BLEND			65.00	32.50
		REMOVE DECAL FO				65.00	32.50
	L Door Oper					65.00	390.00
1	L Center Pil					65.00	65.00
1	RRAIL					125.00	125.007
0.3	R Frt Otr Do	oor Belt Moulding				65.00	19.50
		or Belt Moulding				65.00	19.50
	L FRT DOO					150.00	150.007
	R FRT DOC					100.00	100.00
		Door Belt Moulding				65.00	19.50
		Door Belt Moulding				65.00	19.50
	L REAR DC					100.00	100.007
1	R REAR DO					100.00	100.00
2.5	Roof Panel (					65.00	
4	Roof Panel	Juiside				65.00	162.507
	Roof Headlin	ner				65.00	260.007
		VERSIZE@\$40					227.507
	LIGHT BAR					400.00	400.007
0.8	ANTENNAS					65.00	39.007
1	ROOF	2				65.00	65.007
1	L Quarter Pa	nal Outsida			1,	500.00	1,500.007
1.2	L Quarter Pa					65.00	78.001
Ph	none #	Fax#	1		Total		
	782-5115	641 782-8011					1144)
	102-3113	0-1702-0011		200 1			





Bill To IOWA STATE PATROL-357 APDSOI0254604-001

						Т	
				P.O. No.	Terms		Project
				21 Dodge Charger			26250
Quantity			Description	2	Rate		Amount
1 0.5 3 1 0.4 0.3 1.6 1 1 3.2 1 0.2 1 0.2 1 0.2 1 1	Rear Combi Rear Combi Luggage Tri Rear Bumpe Paint/Mater Hazardous V Clear Coat Mask For O Mask For O Restore Cor	S A d Panel nation Lamp im Panel er Cover ials Waste Disposal verspray verspray rosion Protection rosion Protection R PANEL				65.00 600.00 65.00 921.00 65.00 65.00 65.00 5.00 65.00 65.00 12.00 65.00 12.00 65.00 12.00 0.00%	169.00 600.00 32.50 195.00 921.00 26.00 19.50 104.00 5.00 13.00 13.00 100.00 150.00 0.00
Pho	one #	Fax#	]		Total		\$9,170.00
641 7	82-5115	641 782-8011		a	[		